Beam on upper edge (no data selection):

h_sni
| Entries 6008 |
E Mean 20.61
140 RMS 9.707
%2 /' ndf 38.86/48
3.249+ 0.243 120 Width 3.012 = 0.247
17.74 = 0.64 MP 16.7 + 0.6
1669 = 77.0 Area 2606 + 116.9
0.9053 = 3.0921 oG GSigma 1+ 1.1

[cIsigcal_max/cinoise {module==3} | [z

Mean 10.79

-| RMS 6.918

2/ ndf 49.34/56

Width 0.9825 + 0.1117

--| mMP 10.01 = 0.41

Area 833.4 = 59.4

GSigma 2.569 = 0.468

i i — h_sn4
| clsigcal_max/clnoise {module==5} h T e
P Mean 23.98 Mean 24.39
RMS 7.76 250 RMS 7.067
2000 »2 / ndf 149.9/48 %2/ ndf 238.8/48
Width 1.918 = 0.038 Width 1.933 = 0.034
1800 MP 20.65 = 0.03 2000 MP 20.32 = 0.03
Area 3.406e+04 = 159 Area 3.843e+04 = 166
:i:: GSigma 3.191 + 0.068 GSigma 3.052 = 0.066
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